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- ¥MP 10 - Systems of Equations PRACTICE Test (ver.1105-A)

Name: (0/ Date:

Multiple Choice: Identify the choice that best completes the statement or answers the question.
Make sure to show your work or justify our answer using words.
Full marks will not be given for the correct answer only.

1). Create a linear system to model this situation:

In a board game, Judy scored 3 points more than twice the number of points Ann scored.
There was a total of 39 points scored.

j=3+2a b. j—3=2a c. j+3=2a d. a=3+2j

jt+ta= 39 Jj+2a=39 Jjta=39 Jj+a=39

2). Create a linear system to model this situation:

Cheri operates a grass-cutting business. She charges $19 for a small lawn and $29 for a
large lawn. One weekend, Cheri made $287 by cutting 13 lawns.

s+1=13 e si=13
195 + 297 = 287

29s + 191 = 287

b. s+1=287 d. s+7=287
19s + 297 =13 29s + 191 =13
3). Use the graph to solve the linear system: y=-3x-5 v
y—1=3x 6
\ /
a. (1,-2) c. (1,0) ' e
\ 11/
b. (-1,0) (©)e-2
' 5 || o\lp 4 ¢
Check your answer. (1 mark) 2
/
Yi=-—3X-i—-B
?
4). Use substitution to solve this linear system. x=2y-56
5x + 13y =410

B2y -56) +iy=4l0

= -5b
Iy — 25D 4>y = A0 X 2@0?%
23\/ Z 90 XY= Lo
y= 20 =4

a. (4,-30) b. (-4,30) @(4, 30) d. (-4,-30)




S5). Which linear system is represented by this graph?

Ty
o 8
Sx + 6y =18 \I'

o \\ 6 ]
b) x—y=7 4 \* X -€
Sx+6y =18 5 NERNE
c) x—-y=9
6x+ 6y =18 SR W B o X

N
d) x—y=11
6x+5y=18
6). Use substitution to solve this linear system: x—-y=18
3 3 15
X=y+® TP
3 (4T3 4 =-15
7¥( / 4 3 2 %:H\L.\-HCL
3(y+18) +3y = —30 K=
- —230
+ 54ty =
BY ‘ b B (A( -~ (4)
by = 84 /
i
a x=4y=18 b. x=-14;y=-14 @F“;y:—” d. x=dy=4
7). Use an elimination strategy to solve this linear system. (ZUX—- 24y = =52 ) 2
el S i €x+ 32y =104 )5
40X —4%y = — 104 200 = SR B = =
- A0x + lboy = 520 e
'208\/ = ,b?,‘} 20x =20
y=3 !
(\,2)
a. x=-landy=-3 c. x=landy=-3

b. x=3andy=1 =1andy=3 /é



2|
8). Use an elimination strategy to solve this linear system. (—2— X+ ly =-11 )

3 7
% & 3 — ’25]))(7 _ _l_x_i . 2
[ (}2';7\{/ = —210)%5 (7 =10
Q‘\}ﬂ'\ \/

,23!
QB + 21y =-b\7! ~ 294 7y =
4»‘%7(*2);[:——630 BY;{;?'
o = RSRER b )
x=—21andy=21 r=-2 C. x=21andy=-21 ( -2 |

b. x=2land y=21 d. x=-21and y= 21

9). Without graphing, determine the equation whose graph intersects the graph of —6x + 3y = 11 exactly

once. 3\/ =px+!I
\/__27(4—\‘
»4X+H \2\(:24X+4LL y’b“_i
x +U = 2x+1L- 2x L2
3 Y 3 <
—4x + 3y = 11 b. none c. —24x+ 12y =44 d. —6x+3y=13

10).Determine the number of solutions of the linear system:

lax-sy=123  |4y-122=2Y
= 14¥%—13 14x-5y=173

=14y -122
y=Myx-13 5 5
S 5
no solution c. two solutions

b. infinite solutions d. one solution

Short Answer: Show work.

11).Create a linear system to model this situation:
A sack of wheat costs $10.75 and a sack of oats costs $12.75.
Ll

sstal If the total cost was $778.75 and 65 sacks were ordered how many sacks of each grain were
A7 purchased? o U\)—“ o Sq")u X 1+ =@ of o0 of oohs

215 o H(65-L) +12.35L =T78.75
0 ‘o 15wt+ nggt e sl . 1
v 2= 30 é
= 05-t =
=65 Ho

W= )
There wete. 40 Gacks ot oats and Q% Sacke of whagt! ordered -

Verify that 25 sacks of wheat and 40 sacks of oats represent the solution of the linear system.
I54UO=L5 & pAsEs) +12 TS =T18TFS
65=b% v 26375+ BIO = T1873

T18.15 = ??8.7‘5/ .
D



12).Chad wrote this linear system to represent a situation involving sleeves and boxes of golf balls.

s+b=14
3s+12b= 141

a) What problem might Chad have solved?
How Many Steves and  hoxes ot 30|F balls were oled.

}

/3

b) What does each variable represent?

s= # of Skeewes of %Q\Q \lls p;
b=_# o boxs of goH? balls i

Y
13).Solve this linear system by graphing. —3x-2y=16
—x + =_8 8
o : Ty
el —X+ty=—9%

(0]

=¥ - lo=2y S |
\/=~%x-8 NG 4 /3

n
\\
N
,\
0
>
\
ct

\ A
\ /
\ “
; L/
Solution ( D',’%B 8\
==, X~

14).A submarine cruises underwater at 20 km/h and on the surface at 30 km/h. The submatine travels a
distance of 650 km in 25 h. A linear system that models this situation js:

S

UEHS =125
20u +30s =650 ()
- where  urepresents the time in hours cruising underwater, and

50.

£

s represents the time in hours cruising on the surface. (y)  [87*

: /
a) Graph the linear system above. 20Ut 05= L0 __é 30 Lj
U+5=25 e =AU 165D [F] IS
C= -t £ S

S=2Zutb2

3 . 10

NS ‘
-
{ 0 0 1D D | 4 50

b) Use the graph to solve the problem: )
How long did the submarine travel underwater. W= lO nw.

How long did it travel on the surface? 518 M . /ID

2
Jime uhder watet (h)




()

™

15).Use substitution to solve this linear system: Bx+y=-4538 (3 marks)
=5x+ 3y =2Z1

Solution:

16).Use an elimination strategy to solve this linear system. 120+ 284 = 12 (3 marks)
—20c + 16d = 168

Solution:

17).Define the variables & model this situation with a linear system:
A box of 24 golf balls has a mass of 1290 grams. When 5 balls are removed, the mass is 1065 grams.

Define your variables. Do NOT solve.
9 @ (3 marks)

Mis OX %@% ene 5ol ball LO\\
Mmass 6% ‘ﬂw%m\c (0\\

b”‘“ 'Z\J\\c) - |70
e
Lol l‘?\j

18). Without solving, determine the number of solutions of this linear system. Tx—3y =43
Tx—-3y=13

Justify your answer.




19).The first equation of a linear system is %x + fiy = 213. Write a second equation to form a linear system

AN puLTIPLE O

Ayrbn = 2\5

with infinite solutions. ¢ St
fy> - v +21%
N Ay #l 3
= &
Njier: B
2
. —x+y=16
20).For what values of k does the linear system 3 have :
kx+3y =48

b) one solution?

a) infinite solutions?
Sami \):\L of

ol o3 I

NOT passius L 1o SAMS

LS

€

pNTHINGL T (2T

21).A stained glass design was made of triangles, each with area 14 cm?” and hexagons, each with area 84 cm?.

The design used 81 shapes and covered an area of 5334 cm®
a) Create a linear system & define your variables to model the situation

(3 marks)

L:_ ﬁ 0\? ‘\} \a n@l&.‘i @ _
‘V\ = ﬁ O'v LL%C\E',’)»U/'\S
£ th=¢1 ©
Ut + P =530

b) Solve the system and state what you answer represents.

W b |
N{ 4%1(5?\"?—) =S 33\

BERNCDEES S $3%4
-kt =P

o= 20
e deoge u med2 g O?L @

Answer: I\a\ ’\f{\a.aé‘tu ‘F é)k) )VPXE\Z)&/\},

{— ssiuhed

‘_.QNF]&M‘MJ
11




22).Gino’s class was assigned the following three-part question for homework.
a) Define the variables & write a linear system to model this situation (do not solve):
Save-Way-More food store received a delivery of 86 boxes of apples and bananas. Each box of apples
f\ \ had a mass of 32 1b., and each box of bananas had a mass of 16 1b. The total mass of the delivery was
W’/ 1968 1b.

X Q ; lp f(, \ (3 marks)
O = "0 Wiff, x2S ¢ é
b - %% g&wﬁ%& N CCO? e 0+ b=8
— e = 220 +\ob = \A6%

b) Use a graph to solve this problem: How many boxes of each fruit were there?
,k' (3 marks)
i b T -0t €6 S

\[ 16l = ~3la 1463

> \ ﬁ\;b i 2 I \j
X N - T Al ’\’] D
& © (% T;J':‘ %‘x |

)
\st\i‘f\? ; i . N
N 'Saike \ epec & ®
N X &\‘ Y J " 3
C Ny — ()
| s TS \ é nd LB EE R 3L (‘Z’l’\)’&@(‘{ﬁi}f =1
\.. \ ;c —&‘,s AN ¢HEQ b %“3‘% + «—:, (
<) (BFHAD P N RS
AN I 0 I I
Nt
S
7 Wy
\ F‘\" } Solution
N
LA vy
WA 3% boves ot fi*ﬂé?,éfxﬁ,&
s TS I
NEER 44 boxes o3 b dacene 3
a “,‘%&
l.\}‘\ L_\’Q.;}(‘)'
| _ R L "4;\2!€
I$ SH 35 We B,

[y Iy £ »
W, C loox e S ol fﬁpy?ou
¢) Gino answered part a) correctly, but could not understand why his solution of 49 boxes of apples and
37 boxes of bananas was incorrect for part b). Explain what he likely did wrong.

i} ) . / o
Ganp @“O’t Ne varwbles rused %10 (1 mark)






" 15).Use substitution to solve this linear system: Bx+y=-458 =5 \= =YX —NSE

—5x+ 3y = 221 . ” .
~S %42 ( %\L’\”\W> > 22\ ‘i Séﬁ’) »:V ‘\‘t\;?
—{N ~ 2% =5 s 22 e 1® B 9%
-2y =\$4% N =Y /é
X = 5% [ i;‘{";'i.?sf}
16).Use an elimination strategy to solve this linear system. 12 + 984 = X5
o\ [ minate ¢ égﬁmd 168) <3
boc + Hod =60 e 428(2)= 1>
4‘-@0(} ‘4""[6d~—’5b4 lZC.Q_gL‘:!Lz,
1884 = 564 (2¢ == /

¢=-b

(~b,3)
17).Model this situation with a linear system:
A recycling depot pays 0.06¢ for a small can and 0.23¢ for a large can.

d=>

X § Chara took 70 cans to the reco};clmg depot and her total refund was $22.35.
o S\?V\Ox\\ ¢ Do NOT solve. e e
V \ Q) ’?'
7= S?ar%e ce, /
b.obs+0.234=33.35 \L
18).Without solving, determine the number of solutions of this linear system. Tx—3y=43
. Tx—-3y=13
Justify your answer. === >
y=Ix -4 2y= 1%
=3 y=Lx-12
> 3

No '
el soluhions %

Sovmdo]ae /0\,% \[-]M Pa)rallef lines -

19).The first equation of a linear system is 9x + 6y = 213. Write a second equation to form a linear system
with infinite solutions. %

Yx +b\/ =

o
3& = LLT/
= any mu thpl of 213 -



2
. —x+y=16
20).For what values of &k does the linear system 3

kx+3y =48
a) infinite solutions? b) one solution?

| Ix+3y =48 Ax +dy= 4%

Ky =49 x4 3y =49
k=2 % 7‘\\\3 4 other an 2.

— A

have :

21).A stained glass design was made of triangles, each with area 14 cm’, and hexagons, each with area 84 cm’.
The design used 81 shapes and covered an area of 5334 cm’. -
a) Create a linear system to model the situation . DS yauruaruinla

1= %u b Yrangln wsed b\ =€) _
x\—.« Mo b lnb-?su-s i.)«a\) \,\xwl ‘LPQ A_Z\_\\AC‘S"Q’ZL’& / -

b) Solve the system and state what you answer represents.
N g\t
M~ gu(g-L)=5334
%> ~ (g O~ %\‘\k: T 51y @ Y W 6D \3@ Q\ ‘\.“cmbug '%:
-3ov ~ e Lo \‘Q\Lclé—‘}‘\j orée
3> 2\ & \
- Wt staaed f)\@“g‘

N

22).Gino’s class was assigned the following two-part question for homework.
a) Write a linear system to model this situation: {l¢ €. flenosd.
Save-Way-More food store received a delivery of 86 boxes of apples and bananas. Each box of apples
had a mass of 32 Ib., and each box of bananas had a mass of 16 Ib. The total mass of the delivery was

1968 1b ‘ )

D) AbEBe(D

B A /3 § /@
°f B';‘“D%Nf,:o; \ui\'\“l'\;ii

46 poues gy, 4
S 37 lawes oA bunnng

b) U%e a graph to solve this problem: How many boxes of each fruit were there?
Gino answered part a correctly, but could not understand why his solution of 49 boxes of apples and 37
boxes of bananas was incorrect for part b. Explain what he likely did wrong.

B b= -At8h O gw\qbuﬁz 6 4
L’- ; st (5 VAl '
A

11
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